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QUESTION 1

You want to backup the HiRDB database of your newly installed Hitachi Command Suite (HCS) server. Which two
methods are available to you? (Choose two.) 

A. Use the hcmdsbackups command specifying a directory for the backup data. 

B. Open the Utility tab in the HCS GUI and select the Backup Database function. 

C. Run the HiRDB backup wizard and select the backup format and destination. 

D. Use hcmdsdbtrans /export command to export the database in CSV format. 

Correct Answer: AD 

 

QUESTION 2

You want to use the Hitachi Command Suite dashboard to show only certain information. Which two reports would be
displayed? (Choose two.) 

A. storage system alerts 

B. completed tasks 

C. datacenter utilization 

D. pool utilization 

Correct Answer: AC 

 

QUESTION 3

You plan to disable automatic tier relocation of certain HDT volumes in Hitachi Dynamic Tiering. What are two valid
reasons for doing this? (Choose two.) 

A. To ensure prioritization of a volume whose I/O activity is constant. 

B. To ensure prioritization of a volume whose size is growing exponentially. 

C. To ensure prioritization of a volume whose I/O activity varies greatly. 

D. To ensure prioritization of a critical volume whose I/O workload is low. 

Correct Answer: CD 

 

QUESTION 4

A storage administrator has been asked to use Hitachi Device Manager (HDvM) to provide information about storage
utilization by hosts for an urgent meeting. When the report is created, several hosts have no utilization data associated
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with them. What is the reason for the missing data? 

A. The hosts do not have the HDvM agent installed. 

B. The hosts have not been refreshed. 

C. The storage system has not been refreshed. 

D. The storage system polling is not synchronized with the report creation. 

Correct Answer: A 

 

QUESTION 5

You use Hitachi Device Manager (HDvM) to manage your VSP and HUS storage systems. Within the HDvM GUI, in
which two locations would you perform storage allocation tasks? (Choose two.) 

A. Resources 

B. Administration 

C. Logical Groups 

D. Tasks 

Correct Answer: AC 
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